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Name: Datum: Ergebnis: __
ox> — Ox — 4(4x3 + 6x3) + 6x° 4(9x2 — xz) —3x° — 6% +x°
4(8x— Tx) — 6x° + 5x+ 7x° 27 — 4 =73 + 70 - 7
0 — x—x° +x° +4x° 3(8x+6x)—x3+8x3+2x
39+ 7x0) + 27 + 4y + x° =0 —4(9x° + 2x%) — 2x
3(9x3 + Tx)+x+ X+ 2x 4(8x3 + 9x2) +Ox + dx + 3x°
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Vereinfachende Polynome

Name:

0 — 9x — 4(4x> + 6x°) + 6x2
—31x° + 6% — 9x

4(8x— Tx) — 6x° + 5x+ 7x°
X+ 9x

Ox® — x—x* + x> + 4x°
5x° + 8¢ —x

39+ 7x3) + 20 + 4 + X
28x° + 27x

39 + 7x)+)c+x3 + 2x
28x° + 24x

Datum: Ergebnis:

409x% — X)) — 3 — 6 + x°
—3x3 + 272

203 — 4 — T+ T — T

03

3(8x + 6x) — x> + 8 + 2x
T + 44x

=9 — 49 + 2x%) — 2x
—45x° = T — 2x

4(8x° + 9x%) + 9x + 4x + 3x°
35x° + 3627 + 13x
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